
Chapter 4: Particle Kinetics Homework

Homework H.4.K

Given: Block B (of mass 2m) is able to slide along a smooth horizontal surface. Block A (of mass
m) is able to slide along the rough top surface of block B, as shown in the figure. Initially, A is
traveling to the right with a speed of vA1, and block B is traveling to the left with a speed of vB1.

Find: Determine the velocity of block B when block A has to come rest relative to block B.
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Problem IV-55 
Given: Block B (of mass 2m) is able to slide along a smooth horizontal surface. Block 

A (of mass m) is able to slide along the rough top surface of block B, as shown 
in the figure. Initially, A is traveling to the right with a speed of   vA1 , and block 

B is traveling to the left with a speed of   vB1 . 

  
Find: What is the velocity of block B when block A has to come rest relative to block 

B? Write your answer as a vector. Use the following parameters in your 
analysis:   m = 25kg ,   vA1 = 26meters / sec  and   vB1 = 10meters / sec . 

 
 HINT: Consider applying the linear impulse momentum equation to the system 

made up of A and B together. 
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